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Name ______________________________

Note:  For all problems requiring calculations, set up but do not solve anything.  “Set up” means write down the appropriate equation and plug in as many numbers as possible.  For multi-step problems, you should refer back to previous steps or variables.
Short answer questions/problems

Notes:  If you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  Assume that the EVA bonus paid to Pesto Inc.’s CEO was $3,000,000 in 2005 compared to $2,750,000 in 2004.  Assume that Pesto calculates annual bonuses using the equation we discussed in class and that they use an Eli Lilly type of bonus bank.  List four variables that could have changed that would have lead to this bonus increase.  
2.  What do the “best” tests reveal about whether or not professional investment managers have private information that is not reflected in stock prices?
3.  Competition between traders helps to keep markets efficient.  How do the traders who are selling securities contribute to market efficiency?

4.  When your boss asked you to calculate the profitability index on several projects, you started to mention the reasons that profitability index is not as good as net present value when deciding on projects.  However, your boss replied that profitability index is appropriate since the firm is experiencing capital rationing this year.  What does the profitability index reveal about a project and what is capital rationing?
5.  Your firm has just purchased a new piece of machinery for $125,000.  This cost represents the total cost of buying, shipping, and installing the new machinery.  How will purchasing the machine impact the firm’s net incremental cash flows today and 2 years from today if the firm’s marginal tax rate is 35% and if the machinery falls into the 5-year MACRS depreciation class?  Note:  use a “+” to indicate a cash inflow and a “-“ to indicate a cash outflow.
6.  What is the key to correctly incorporating the impact of inflation on the value of an asset?
7.  Periodically a publicly held firm goes private and becomes closely held.  List two reasons that a firm might make this decision and list one reason that more firms do not.  (Think about the advantages and disadvantages of being publicly owned versus closely held).  

8.  The firm you have gone to work for is considering issuing additional shares of stock for a planned expansion.  When you mention that the firm might consider using a shelf registration, your boss asks you to state the advantages of such an approach.  How do you reply?

9.  Assume that in order to fight the deficit the government eliminates 401k, 403b, and IRA plans.  What would you expect to happen to the pre-tax returns on high-dividend stocks?  Note:  No need to explain your answer.
10.  List the two basic reasons that firms prefer issuing debt to equity according to the Pecking Order Theory.
Problems/Essays

1.  Use the following information to answer “a” and “b” below regarding Suran Corp.’s decision on whether or not to invest in a new manufacturing facility.
Cost to build the new facility:  $7 million today and $4 million one year from today.
Included in the $7 million cost today is the $2 million that Suran spent 2 months ago to purchase the land.  This land could be sold today for an after-tax cash flow of $1.5 million.  

Cash flows produced by facility:  Monthly cash flows starting one year and 3 months from today.  The first net cash flow would be $450,000.  Subsequent net cash flows would increase by 0.5% each and would continue through 5 years from today. 
Standard deviation of returns on Suran’s existing assets:  38%

Information on Suran Corp’s securities:  

Betas:  stock = 1.2; bonds = 0.2

Market values:  stock = $120 million; bonds = $40 million

Book values:  stock = $30 million; bonds = $35 million

Market Data:  risk-free rate = 5%, market risk premium = 8%

a.  Calculate the net present value of this new facility if Suran estimates that the new project has approximately the same risk as the firm’s existing assets.  

b.  What kind of error might Suran make if it uses the number in part “a” but the project is riskier than Suran’s existing assets?

2.  Vivec Inc. has existing assets that are expected to produce cash flows over the next 15 years with a present value of $100 million.  These assets show up on the firm’s balance sheet as having a net value of $45 million.  Vivec is considering investing in a new project that would require an investment of $15 million.  Vivec plans to fund the project with $1 million in cash, by issuing debt that matures in 7 years for $13 million, and by issuing additional shares of stock.  The new debt would be in addition to the firm’s existing debt that matures in 7 years for $75 million.  The project would produce cash flows over the next 10 years and would have an expected net present value of $2 million.  The standard deviation of returns on the project is expected to be 44%, on the firm as a whole without the project is expected to be 39%, and on the firm with the project is expected to be 40%.  The APRs (assuming continuous compounding) on Treasury Strips vary by maturity as follows:  1-year = 5.22%; 5-year = 5.02%; 7-year = 5.28%; 10-year = 5.36%; 15-year = 5.42%.

a.  Calculate the value of Vivec’s stock after the new project is undertaken.
b.  Calculate the value of Vivec’s original bonds after the new project is undertaken.
c.  Calculate how much stock Vivec will need to issue.
3.  Assume the following time line of events:

June 1, 2006:  Southwind Corporation announces an increase in their quarterly dividend payments from $0.50 per share to $0.75 per share.

July 6, 2006:  President Bush announces that dividend income will no longer be treated as income for personal incomes taxes.  

August 12, 2006:  Xon Mobile Technologies announces an increase in their quarterly dividend payments from $0.50 per share to $0.75 per share.  
If you know nothing else about the two firms, what impact would you expect the announcements to have on Southwind and Xon stock prices?  Explain any similarities and differences in the reactions you would expect.

4.  When Balmora Inc. announced its intention to issue bonds and repurchase stock, Balmora’s stock price fell.  Explain how issues unrelated to taxes might explain this reaction.  
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